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ATIOETAZEIE METAEY | 12,00 | 30,00 | 40,00 | 30,00 | 2000 | 40,00 | 35,00 | 2500 | 33,00 | 2500 | 40,00 | 40,00 | 40,00 | 30,00 | 37,00 | 40,00 | 33,00 | 40,00 | 40,00 | 30,00 | 40,00 | 40,00 | 40,00 |
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XIAIOMETPHEH 04000 0+.00 04200 04300 0+400 04500 0+600 0700
IIAPOXH Q.13 Q=3.10Ls Q=3.03Ls Q=2.94L/s Q=2.87Ls Q=2.82Lis Q=2.73Lis Q=2.65Lis Q=2.59Lis Q=2.51Lss Q=245Lis Q=236Lis Q=227Lss Q=2.18Ls Q=2.11Ls Q=2.02Lis Q=193Lss Q=185Lss Q=176 Lis Q=1.67Lss Q=1.60L/s Q=L51Lss Q=142Ls
YAPAYAIEA ETOIXEIA TAXYTHTA V=0.71 V=0.71m/s V=0.70 m/s V=0.70 m/s V=0.69 m/s V=0.69 m/s V=0.75 m/s V=0.75 m/s V=0.75 m/s V=0.74 m/s V=0.64 m/s V=0.64 m/s V=0.72 m/s V=0.71m/s V=0.71 m/s V=0.86 m/s V=0.85 m/s V=0.84 m/s V=0.83 m/s V=0.81 m/s V=0.82 m/s V=0.81 m/s V=0.81m/s
[AHPQEH WH=020 WH=0.20 WH=0.19 WH=0.19 WH=0.19 WH=0.19 WH=0.17 WH=0.17 WH=0.17 WH=0.16 WH=0.18 WH=0.18 WH=0.16 WH=0.15 WH=0.15 WH=0.13 WH=0.13 WH=0.12 WH=0.12 WH=0.12 WH=0.11 WH=0.11 WH=0.10
BAGOX POHE =396 am h=3.94 cm h=3.89 cm h=3.84 cm h=3.79 cm h=3.76 cm h=3.45 cm h=3.39 cm h=3.35 cm h=3.30 cm h=3.58 cm h=3.51 cm h=3.13 cm h=3.07 cm h=3.02 cm h=2.56 cm h=2.51 cm h=2.45 cm h=2.40 cm h=2.34cm h=2.25 cm h=2.18 cm h=2.10 cm
AIAMETPOZ KAI MHKOZ PVC 241 9200 /L=1210.018
MHKOZ KAI KAIZH L=172.000/i=0.00733 L=118.000/i=0.01000 L=80.000/i=0.00700 L=107.000/i=0.01000 L=40.000/i=0.01800 L=33.000/i=0.01788 L=110.000/i=0.01800 L=120.000/i=0.02400
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KAIMAKA:  1:1000/1:100 He=B.70 H=16.80 KAIMAKA :  1:1000/1:100 H=13.90 KAIMAKA:  1:1000/1:100 H=15.30
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BA®OZ ZKAMMATOX X 3} & s q % 2 Z ) a q o 3 X BA®OZ ZKAMMATOX q ] 8 2 BA®OZ IKAMMATOZ & ) ! 2
ATIOETAZEIE METAEY | 40,00 | 40,00 | 40,00 | 40,00 | 40,00 | 30,00 | 1500 | 40,00 | 2000 | 2500 | 2500 | 30,06 ; 39,96 | ATIOETAZEIE METAEY | 2000 | 40,00 | 2000 | ATIOETAZEIE METAEY | 1400 | 2600 | 30,00 |
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XIAIOMETPH:H 04800 04900 14000 1100 H200 XIAIOMETPH:H 0+000 XIAIOMETPH:H 0+000
IAPOXH Q=133Lis Q=124L5s Q=L15Ls Q=1.06L/s Q=097Lis Q0.69Ls |Q=0.62L/s Q=0.42Lis Q=033Lis| Q=028Ljs Q=022Lss Q=0.16L/s Q=0.09L/s APOXH Q=0.19L/s Q=0.14L/s Q=0.05L/s [IAPOXH Q0.16Ls Q=0.13L5s Q=0.07Ls
TAXYTHTA V=0.80 m/s V=0.87 m/s V=0.86 m/s V=0.75 m/s V=0.73 m/s V=0.73m/s V=0.79 m/s V=0.64 m/s V=0.60m/s| V=0.57mss V=0.53 m/s V=0.48 m/s V=0.41 m/s TAXYTHTA V=027 m/s V=024 m/s V=0.18 m/s TAXYTHTA |V=025m)s V=024m/s V=020 m/s
YAPAYAIKA ETOIXEIA TAHPQZH WH=0.10 WH=0.09 WH=0.09 WH-0.09 WH-0.09 WH-0.07 | WH0.06 WH=0.05 WH=0.05 WH=0.04 WH=0.04 WH=0.03 WH=0.03 YAPAYAIKA ZTOIXEIA TIAHPQEH WH=0.06 WH=0.05 WH=0.03 YAPAYAIKA ETOIXEIA OAHPQEH | WHSD. WH=0.05 WH=0.04
BAGOX POHE h=2.02 cm h=1.82 cm h=1.75 cm h=1.80 cm h=1.73 cm h=138cm  |h=121cm h=1.07 cm h=095cm |  h=0.88cm h=0.79 cm h=0.68 cm h=0.52 cm BAGOZPOHE | h=l.l4cm 1=0.98 cm 1=0.61 BAGOZPOHE | b=1.05 h=0.95 cm b=0.71
AIAMETPOZ KAI MHKOZ AIAMETPOZ KAI MHKOZ PVC Z41 @200 /L=80.000 AIAMETPOZ KAI MHKOZ PVC Z41 @200 /L=70.000
MHKOZE KAI KAIZH 1=40.000/i=0.02400 L=80.000/i=0.03000 L=40.000/i=0.02275 L=40.000/=0.02225 | L=30.000=0.02900 | LoIo30 | L=110.000/i=0.03200 L=30.058/i=0.03194 L1=39.960/i=0.03203 MHKOZE KAI KAIZH L=80.000/i=0.00500 MHKOZ KAI KAIZH L=70.000/i=0.00500
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AHMOZ AIPOYQN - MEZZANIQN

MEAETH

MEAETH AIKTYQN ANOXETEYZHZ AYMATON OIKIZMOY

MOAITIKON AHMOY AIPOYQON - MEZZANIQN
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